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HOMEWORK: Review questions...
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2. a) For ould $60g3 need to be

invested, at 6.4% simple interest, to earn
151200 in interest?
b) How long would it take if the interest for
part a) was paid yearly?
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¢) How long would it take if the interest was
paid quarterly?
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$50 000 to the school. The amount was invested

5. An alumnus of a local high school donated p__
SD DO
for 3 years at 7.75%, L{:-m ounded fjuar terh The /L 3

school has agreed to use only th¢interestyarned

on the investment to buy sports equipment.
How much money will be available for sports ( = 0-0 77 S

equipment at the end of the investment’s term?
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7
7. a) How much should Desire at 6%, P 7
-2

compounded monthl}r, to have $10 000

in 3 years?
b) How much should Desiree invest if the ( = 0-0b
compounding period is semi-annual? ‘\ | A
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SOLUTION WITH TI-84 (Finance APP)...
NGLE v L avest ' PV =

Total number of payments

I/-EI Yearly interest rate (as a percent)
PY=0 < Present Value (money |pvested/borrowed)
PMT=0- Payment ¥ g "‘9
FV:@ N Future Value (mon y tthe end of th;'term)
P"' ""1 { Number of payments/year

Number of times interest gets compounded/year
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_EXAMPLE 1 Determining the future value of an investment
p. 485 involving regular deposits

Darva is saving for a trip to Australia in 5 years. She plans to work on
a student visa while she is there, so she needs only enough money for a
return flight and her expenses undl she finds a job. She deposits $500
into her savings account at the end of each 6-month period from
what she earns as a server. The account earns 3.8%, compounded
semi-annually. How much money will be in the account at the end

of 5 years? How much of this money will be earned interest?

SOLUTION WITH TVM-Solver... Y 1 SOLUTION by hand...

N=18 € JX ~

éﬂzaa %> (X(”\o‘A (7m Q"‘ Owjf

PMT= -S66 : v\
 ElL5439%00ea7s 1 5./7‘“0I

P=2

Coy=2

FMT:[3 EEGIN 5




Untitled.notebook

EXAMPLE 2

p. 487 payment investment

Comparing a regular payment investment wit

December 06, 2017

Adam made a $200 paymen) at the end of each year into an investment

that earned 5%, compounded annually. Blake made a single investment a

5%, compounded annually. At the end of 5 years, their future values were
) ruure valucs we

egLal.

a) What was their future value?

b) Wha@nnount did Blake invest 5 years ago?
¢) Who carned more interest? Why?
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EXAMPLE 3 Determining the interest rate of a reqular
p. 489 payment investment
Jeremiah deposits $750 into an investment account at the end of every
3 months. Interest is compounded quarterly, the term is 3 years, and the D/
future value is $10 059.07. What annual rate of interest does Jeremiah’s P g 1
investment earn? (0\4 C-
N =12 3 i ‘7/7‘ 3 M=12 A /
s v [X=8.8008019121 &
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EXAMPLE 4 Determining the regular payment amount

p. 490 of an investment (,{/)8 L Do( Y 20

Celia wants to have $300 000 in 20 years so that she can retire. Celia has found P:

a trust account that earns a fixed rate of 10.8%, compounded annually. . q% ; ‘ . g[
-
—

a) What regular payments must Celia make art the end of each year to meet
her goal of $300 0002
b) How much interest will she earn over the 20 years?

= g _{78(.07

Fli=(
« FMT=B4751. 82988

FUW=30E0E0 I Z A -

PoY=1 L
Coy=1 7
PHT:|338 BEGIH




Untitled.notebook

EXAMPLE 5

p. 491

December 06, 2017

Determining the term of a reqular payment
investment

On Luis’s 20¢h birthday, he started making regular $1000 payments into an

investment account at the end of every 6 months. He wants to save for a down

ayment on_a home. His investment earns 3.5%, compounded semi-annually.
ps P

At wh 111 he have more than $18 0002
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HOMEWORK...
D.493: #3,5,6, & 9

"NOTE: When using the T1-84...

Each question must have the following completed for homework
AND beginning of class tomorrow you will be given time to solve.
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